=F|
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Be sure to SAVE this program before running it, as
65 REM w#¥x HI-RES DEMO x»x% A an incorrect POKE instruction can cause the
4 ﬁSL’ET 5?4:2? B KEM COLOUR eilﬁggg BLACK machine to *hang-up’ or come to an unexpected
90 - h L -+ ' halt. When you wish to return to the normal low
100 REM =#%% COLOUR SCREEN MEMORY AREA s=== resolution screen after running this program, press
110 FOR I=1024 TO 2023: POKE I,4: NEXT I the Run/Stop and Restore keys simultaneously.
120

120 REM #»#%#% SET BIT MaP POINTER ===

140 BASE =8192: POKE 530272, PEEK(S3272) OR B
150

140 REM *##% CLEAR BIT MAF MODE *s*=

170 FOR I=BASE TO BASE + 7797:POKE 1,0:NEXT I
=T

{90 REM =#x% SET BIT MaF MODE ###s

200 POKE 53245, PEEK{S3245) 0OR 32

210 :

220 REM =#*=+=* DRAW STRAIGHT LINE ===+

230 X1=20: X2=190: Y1=15: Y2=180

240 GOSUE 800: REM FLOT LINE

250

300 REM ##%% DRAW CIRCLE =+==

310 CX=150: Cr=100: Ra=4&0

320 GOSUB 900: REM PLOT CIRCLE

330 :

370 ##%x ANOTHER CIRCLE *=%*

380 CX=100: CY=40: RA=20

390 GOSUE %00: PLOT CIRCLE

400

410 REM == DRAL TRIANGLE s#=x

420 XA=200:AB=250:1AC=300:v&=50:vB=100:C=80 |
420 GOSUE &00: REM FPLOT TRIANGLE |
440

450 GOTO 450: REM END OF MAIN PROGRAM I
440 3

470

400 REM =#%# PLOT TRIANGLE SUBROUTINE =#%x ]
&10

&20 X1=XA: Xz=XB: Yi=YA: YZ=YE

430 GOSUB 800: REM PLOT LINE

&40 Ri=XB: X2=XC: YI=YB: Y2Z=YC

450 GOSUB 800: REM PLOT LINE

460 XI=XCti X2=XAa: YisYC: Y2=YA

470 GOSUB BOO: REM PLOT LINE

480 RETURN

&%90

200 REM =*=#xx PLOT LINE SUBROUTINE ###==
810 s=1

820 IF X2<X! THEN S=-1

830 FOR X=xX1 TOD x2 STEP S

B840 Y=(vZ2=-Y1)#(X=-X1)/(XZ2-X1)+¥Y1

850 GOSUB 1000: REM PLOT POINT

8&0 NEXT x

870 RETURN

B8O :

P00 REM *#== PLOT CIRCLE SUBROUTINE #===
210 :

920 FOR ANGLE = 0 TO Z=FI1 STEF .04

P30 X=INT (RA*COS(ANGLE »+0Cx)

740 Y=INT (CY-RA#SINCANGLE » )

?50 GOSUB 1000: REM PLOT POINT

940 NEXT ANGLE

?70 RETURN

80

1000 REM ###=x FLOT POINT SUBROUTIMNE *»*#=*
1010 =

1020 IF X>319 OR X<0 OR Y>19% OR Y<0 THEN
GOTO 1070

1030 HB=INT(X/8): VB=INT(Y/8)

1040 RO=UB#320+HB*8: A= Y AND 7: B=xX AND 7
1050 BY=BASE+RO+A

1060 POKE BY, PEEK(BY)OR(Z"(7-B))

1070 RETURN
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